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IANTABILIIRST (052)

6. ardlsll Vidleisll AlHIcA Rigidl 2ia usai
: s HiSell uWi ¢

gedai Yo 2430 Al nadl Al aiglell oA M. [Ans. : Au, Ag,Pt]

glel wddal uglaai duridl 202188l gf & ? BelgR L. [Ans. : uigal ANda, 38 Als...]

flol wddol ugld sl 2islogd sAMI AHiddl ARl 2HAE)all of1d AN, [Ans. : Alell, Pis edos, RisliciR]
Fe, Cu, Al 21al Pb aiell s¢ aig udrde Rl Aadl sidl oefl 2 [Ans. : Al]

GeaIfasla dd ulsal gar AiZel HIUES sA & 2 [Ans. : AG = —ve i¥di log k = +ve, AH<TAS]

673 K divalia siola s2di CO dgaiR A2y RssAasdl 1l a2 & 2 [Hint. : AkGa1e10 2115a]

FeO ol Rssla a2 Sisal GUA2l SAI diudial sali 2419 & ? [Ans. : T>1123 K]

siclol @Rl Al of Rssue 2 312 &g Asd oell ? [Ans. : Al siclal s2di g€} MGl Rsseueisdl 8]
Al GuAdM Fe o sy 243y & ? dell As GuAdI cvll. [Ans. : eRRdz Alvis]

ollsA1ge s ‘Al qYfgNall ol A1, [Ans. : SiO,, 2RI AsA1Es, TiO,]

SuR A2 Ag Mzel 8 2 [Ans. : Cu,S + FeS]

slediaigy (Blister) SluR §f 8 ?  [Hint.: Cu aadi 218 SO, Bcuool & & d]

gler urRllsrs) g 8 7 Gegwl M. [Ans. : 301d, Aleila]

flol wddel [RaI wAR AlHel a5 s odosel Rikd 813 AR dad a2 sdl sAl velda)l GuAdl Y
8 7 did M. [Ans. : NaCN = 1daiais]

Alborgian 2iglaai Ael aiaaiofl v a6 8. udg divdidai RsR R AR sINAi Gal Gy Al YUR g
Yud 8 72 [Ans. : sdl uRada]

alol [Heurg 2dued M. [Ans. : Cu = 25-30%, Zn = 25-30%, Ni = 40-50%]

Acslgsysd vdlwdl Adlogddl garal HiZ2 21 H2 glel wdd Rifio) Gudl &1y & ? [Hint. @  Aegigsysd
Sdlell sl uiell a uiget 2N 93 yisuiga ellvy 8.

daR, Aisn a gy GuAPN Aol claligeai dlvisell s WU GUA Y1y B 2 [Ans. : usdR Awis]
A dqeigdidinl Siurell [sivsyl 2ol uAl 2. [Hint. : Soiell sea Afis/As2Ra1/H, 118 B3 s:di
vaiidel &R : Cu”*(aq) + Hy(g) — Cu(s) + 2H'(g)]

Rigga A1AM1s FeNai Al elgQwd sdi BUR 8, odi d uiell 2a suidi RRR & - 2w A2 ?

Ag sdi Cu 2a Zn ol gd URGAAG Al &ldl odi el Ag el Yo:RRUuel #i2 Cu o oed Zn @igol
GuAI Al HIZ s A B ? [Hint. : Cu sdi Zn »sUl ulal 20 2 d Cu sdi A4l aig B.]

: 6l HISAI MW :

elgQAedy g 8 ? aid foresdai doll As GuAPI wRNAl.  [Hint. : Rsse g1 s 2diadl [Heida
elIgQAAY B B, Foll gRI Ag Aad] s B.]

ool 2] AloRodlA eitia & sal HZal ASogel/AHURvs@ddl dg o1z 241 :

(a) waieii AN 2Yg eRIAA A VHal (b) ACSIYSYSd HAURS.

siRNdige g & 2 Al ol [ossdeiai do decy wend). [Ans. : NazAlF]

ANdl yesiofl aiglianai 2l eifst & 2 (a) Cu ol foresdati SiO, 2ial (b) Fe ol foresyai CaCOs.
Acslgsysd uAsAHiYdl Cu Anddid oled dell ASAYSYSd  Uoll¥all Rssud s Aaddiel Ad  gaR
GuA2IAI duiy B, - A9, [Hint : CuO(s) + C(s) — CO (g) + Cu(s) : a2 AG’ agj »pe1 8l B.]
dld-gece kel Al o foresder el Agiged ga diRUR A A2 cEdigdIdi 219 8 ?

EA2igfe, Addeige, [Hadige via RiSAe vidlAal Y21 24N [Ans. : Fe,03, Fes0,4, Fe,03.2H,0 , FeCOs]
sAaIgaaiel Psel ANPis [eivsel aidoll AARIMRAS AflseN 240, [Ans. : ZnCO; — ZnO + CO2
(3dagat), ZnO + C —> Zn + CO (Rss2lal)]
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Slurell gYfgRel €AdA1ol Aols Us GuR s¢ aigell uUlg a1 & B 2 21 Ak 2 [Ans. : Au 214l Ag]
S8 w1 Y(gsS2 AR SA USRell dTdl GuA{l & ?

dlvisell vidflvatiell g aig Aadar AR auadl aideiglon el gel Reenai adl uRkfs w20 .
dgA1geaie] g eyl Aaddl guid dari 8l 2Ylg 3l Ad g2 seanai 2019 & 2

o [ovsfa adl aig WMssA diuaidl udigl 2430 @ ddl aign Hi2 doll AsAIse RssAdl A HIZ AN
oid 8 ? [Hint: aigell uaigl RAUMAI AS o e ag ao Auit]l AG o #ed g bRl A B.]

divisol Biangai @Al 21dd aide oA 24N :

(a) slEar gea adl3 quag dlvis  (b) 3eid, 2u dia [alsioll PN clallgaidi guig dlvis  [Ans. :Cr, Ni]
uRRIAedY Aed g ? BGelgRel AN [Hint: §is 3 210u Rssucisdl w1 iusa oR: sd aig AsAsaAHi uicR
sdlofl dld, €Ld. Al, Mg a3Rg] [eivsdel, a1 3 975K diuaid sq [eivsdel : ZnO + C — Zn + (]

SluR vigRigeAaig] slux A2 Aagdidfl fd 4.

s1gQAAY skl SR Aad] s uig Mis 2 A2 Aad] usidl ael 2 [Hint: E%, = asel sal Eq, = &ol 3]
AUNAl YsdBlall yeAa AIGR oss] sA 3, sA divdid MgO(s) o Rsseual sicla il s sy :

1273 K daid AG; [MgO(s)] = —941 KJ mol™, 1273 K daid AGy [CO(g)] = —439 KJ mol™,

2273 K arvand AG;[MgO(s)] = -314 K mol™, 2273 K arvad AG;[CO(g)] = —628 KJ mol™.

[Ans. : MgO(s) + C(s) Mg(s) + CO(g) a2 1273 K duaiad AG, = AG{CO(g)] - AG{MgO(s)] = 439 — (-941) KJ mol ™' =
502 kI mol™ 21a 2273 K divaiia AG, =628 — (-314) kI mol™ = -314 k) mol™" dlaiel add diuaie = 2273 K]

: o2l HISAoll MW :

Rl Rsigleid, Rgdla yfgser ua oivusdl Yfgsela Rigial wenda.

SIuzal dell sl s Ad Aagdpii 1A @ 7 dofl A1 AsaR—d AARMRIS UBARD 21,

(a) Hg, (b) Sn, (c) Cu, (d) Ge, (e) Ni 14l (f) Zr drdlall Ylgswel  AiZoll uglaal alid 2414,

[Ans. : (a) [oiRieat, (b) sigaidal, (c) Rigdlieval (d) Ra Rsiglsidl, (e) Mes ugld a0 (f) didda Rifk]
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=
BURell Iduia AR (a) Mg &Rl AlLO; ol €aIs) a (b) ALO; &Rl Mg ol eIl Aaddidl Rl 2.
Yo Ag dizy A ol e uielai gicd 2fAMwel B clalld 8. 3o Ag aid C d B dAell ulbiel Guofluy
ddls #d 8. dl A, B,C ia D o Nl datall 2t 4.

ufbal : (a) Ag+ NaCN + [A] + H,O0 — [B] + OH™ + Na'. Aal (b) [C] + [B] = [D] + Ag.
[Ans. : (a) = 0,, (b) =Na[Ag(CN),] , (c)=2Zn, (d)=Nay[Zn(CN),]].



